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—1)3_92
(CD’-2241_ o
—14-

A4 B)-3 C)0 D)3 E)4

\/abc,abc n \/1111 +920= ?
a,bcabc 11

A)I10 B)100 C)54 D)33 E)2l

V2,5+/3,6 —9

3. V16,9—-/4,9

6 6,1 V6,1 11 12
An B O Dy By

3_2_4
4, x y
x—3y=0

A»6 B)3 0)-1

x?—y?2=5

5.
xy =17

D)l E)3

}ﬁx2+y2=?

A)9 B85S ©) V90 D)3 E)1l

b—3
6. %:—3 = () =2

A)27 B)9

C)l D)9 E)-27

METROPOL (M) Lig Jsgsie



7. m,n,s, tk,p €Z*, 9. Bir malin fiyatinda indirim yapildiktan

sonra bir giinde satilan mal miktar
57 |m m | n %25 artarken satislardan elde edilen
gelir degismedigine gore, ylizde kag
— indirim yapilmistir?

If the amount of a good sold increases
by 25%, but the income remains the
same after a price discount on that
good, what is the percentage of the
A)l  B)2 C)3 D)4 E)S discount?

EPo 25 voseprdoie glads A isold )
o ds¢ GEsF ol puad popad
Soacsrdh 3o flagacsdlda dlla

A) 20 B) 22,5 C) 25
D) 27,5 E) 30

10. A={a,b,c,d,e,f} kiimesinin en az 4

8. a,b,c pozitif tam sayilar ve
2a=b
5¢=4b
olduguna gore, asagidaki

elemanli kag tane alt kiimesi vardir?

How many subsets with at least 4
elements does set A={a, b, c, d, e, f}

siralamalardan hangisi dogrudur? have?
If a, b, c are positive integers and A={ab,c.def}
2a=b g g d@Y o 6@ e g e seze o
Which of the following sequences is
correct?
sl s szgualgia, b, ¢ gp JAOILI A)4 B)7 O)15 D)20 E)22
e o= @idinledadlsia
A) a<b<c B) a<c<b C) c<a<b

D) c<b<a E) b<c<a
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5¢ =9
11. = x.y =?
9y = 125} Xy

A)3 B)5 (O)7 D)9 E)II

12. x,y € R,
(x+y—15)2+(x—y—3)2=0
X

= —=?
y

A)% B)% C)§ D)l E)

VXY _ 9
a

13, YXZ szz?
b a.b.c

A)6 B)8 C)12 D)24 E)48

i2017—i2016

i2 — _ L =9
1if=-1= j2019_;2016  °

A)3i B)2i C)-3i D)2i E)i

15.

2018! — 2017! .

z=12017 = 50171

Az  B)ztl ()z2017! D)zl E)z:2018!

16.
(10101010), = (2a2)g = a =?

A3 BY (05 D6 EY
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17.4x% —3x2 +5+x.P(x) =3x3—x%2+5
= P(x) =?

A) 3x3+x*+5  B) x*+5

C) x*-x+5
D) -x*+2x E) 3x%-5

18.P(x) = 3x3 —2x?+x+3
polinomunun (x — 2) ile boliimiinden
kalan nedir?

What is the remainder after the
division of P(x)= 3x3-2x?+x+3
polinom to x-2?

253 Jaxp &8 o s Bad) s la

£x-2dP(x)= 3x3-2x%+x+3

A)21 B)I5 C7 D)5 E)3

19.a.b >0, a’2.bh<0 =
|b|—|a+b|—2_7
2—a o

Aa B)-a CO)-1 D)2 E)b

20. f(abc) = a?) =

£(123) + £(231) + f(321) =?

A)l7  B)IS ()19 D)0 E)l

21. Sekildeki taral1 bolge A X B nin
grafigidir.

The shaded area is the graphic of
AxB

AxB dw@qﬂ\ga ) dj.&id\‘&c\u.u&j\

Buna gore A X B kiimesi
asagidakilerden hangisidir?

Then, which of the following is the
AxB set?

 edieAxBig soze o il

A{(,y): x,yeER, |[x—1|<2, |[y+1] <1}
B {(y:x,yeER, [x+1|<2, |[y—1]<1}
Of{xy): x,yER, [x+1|<2, |[y+1]<1}
D){(,y): x,yER, [x—1|<2, |[y—-1|<1}
EY{(x,y): x,yER, |[x—1|<2, [y+1]| <1}
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22. Bire-bir orten f : R — R fonksiyonu
igin
(fof™Hx—3)=5

ise x=?
If f: R— R is bijection and
(fof )(4x-3)=5,

then x=2?

‘Egdguu_gdhd\ggc f t:R— R U_id}.ﬂu)
—xod (FofDdx—3) =5

A3 B)2 O)-1 D)1 ER

23.
| y=tix)

-:/-3 4

Yukarida grafigi verilen f fonksiyonu
icin asagidakilerden hangisi yanlistir?

oV

Which of the following is wrong
about the f function given in the
graphic above?

sz d e s ddze Jislf p0dd o
o3| 2 asad)

A) (fof)(4) =1
O) f(=H)f(2) <0
E) (fof)(=3) =1

B) (fof)(0) >0
D) f(=Df(1) <0

aecb=a-—b»

a

24. a*b—;
aAb=a.b

=90 [(6%3)A2]=?

A3 BY (5 D)6 Ey

25.

A

Yukaridaki sekilde [BA // [EF olduguna gore
m(CDE)= x kag derecedir?

If [BA // [EF, then m(CDE)= x?

¢ m(CDE)= x 330&3[BA // [EF i)

A)60° B)65° C)70° D)80° E)90°
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26.

Yukaridaki ABCD dikdortgeninde
|AD| =|DE|=3cm ve |AF|=3-|FB

ise ECBF yamugunun alani kag¢ cm’
dir?

According to the ABCD rectangle
above, if |AD| = |DE| =3cm and
|AF| =3. |FB|, then what is the

shaded area of ECBF trapezoid in
2
cm”

@della) (@Y GABCD Jdaalllz—as
<345 |AD =|DE|=3cm
déé).u&c\u.ueggo \e \DJLE\J 94F| =3 |FB|
2o LECBF <z (el i Jlag))

A)5 B)— C)% D)1l E)15

) / /{:
A 14 I

Yukaridaki ABCD paralelkenarinda;
[C ], C agismin agiortayl,
5-|AK|=3-|KB| ve C(ABCD)=18
birimdir. Buna gére |DC| kag
birimdir?

According to the ABCD
parallelogram; [CK ] is bisector of C
angle, 5-|AK| = 3|KB| and
C(ABCD) =78 units. Then how many
units is |DC| 2

[CK] o) :ABCD gd) 91 (sl s iodles
2l ¢ € 5130 ghhidlioag
C(ABCD)=78 5 5-|AK| =3-|KB

¢ | DC| sagise o X35

A)20 B)24 ()25 D)28 E)30
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28. Yandakenar D o 29. A(1,2) noktasindan gegen ve egim

uzunlugu 4 cm acis1 120° olan dogrunun denklemi
olan ABCD asagidakilerden hangisidir?

karesi H

goriilmektedir. Which of the following is the equation
[CE] dogru E of the line which passes through A(1,
pargast, O L - B 2) point and has an inclination of
merkezli B ] 120°2

yarim ¢embere F noktasinda tegettir. )

Taral1 bdlgenin alan1 kag cm? dir? shallee Upssidibz dddipadise 1o

1200 Jedbz 2ed 5A(1, 2)
The side length of the ABCD square

on the right is 4 cm. The line segment A)y=—V3x++3
[CE] is tangent at F point to B) y = —V3x +V3+2
hemicycle with O center. What is the C)y=+vV3x—+3
area of the shaded region in cm?? D)y = 3x —v/3+2

E)y = —V/3x —+3 -2
2o egduel sk ABCD g 3, s0alls-
SadlF 3b3d B odee s [CE] gbd O
szl pus .0 hadlld 8 s s el
¢ Buﬂéedi'éé@di

A)9-2rx B)10-27 Oll-4rn
D)I2-27 E)13-2x 30. Asagida verilen denklemlerden
hangileri reel diizlemde bir cember
gosterir?

Which of the following equations
represent a circle on real plane?

ek sl sgimdideNalgadige
fsagdis s

L. x*+y?-3x+5y+7=0

I1. X2+y*+2x-6y-7=0

III. 2x2+2y%-4x-3y+7=0
IV.  x*+y*-3xy+5x+5y-7=0
V. x*42y?-3x+5y+7=0

A)lvell B)lvelll C)lvell
D)III veIV  E)IVveV
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31.
o e

: ; 33.log,(641og, 81) =4 = x=?

A)6 B)5 G4 D)3 E) 2

a

Yaricapi r olan daire ile bir kenar
uzunlugu a olan karenin alan1 birbirine
esittir. Buna gore dairenin ¢evresinin
karenin ¢evresine orani nedir?

The area of the circle with radius r is
equal to the area of square with one
side length of a. Then, what is the
ratio of circle’s circumference to
square’s circumference?
£l 15l imer HB@II 5 b 5o 34.l0g;8 =x = logy24 =?
J“‘-.E? ngﬂ'&jd\gj\.b‘_ze Buge \eg_'qa °8JU‘9J}L Lﬁsd‘
fesed

x+1

Ax BBx O = D)= E) =

Al BE OF DY EY

log, 64 | logs 125 2
" logz81  log; 16 =7 35'}Cilgxx_x 2=
A)I B0 €1 D)5 E)w
A2 B ¢ pi p?2
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36. f(x) =e*cosx = f" (g) =?

A) —e3 B) —es C)0
D) es E)es

37. f(x) = [ (x* —2x + 1) dx,
fB)=5 =f(0)=?

A)2 B)l OO0 D) -l E)-=2

31

38. fo* sin 2xdx =?
2

A2 B)-1 CO0 D)1 E)2

39.

y=x+2

15

7 13
D)~ E) =

T,
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41.
] 1]
HiEEn Oooodd
Sekil (a) Sekil (b)
Figure (a) Figure (b)

Bir ig¢i dikdortgen seklindeki bir levhayi Sekil
(a) daki gibi dort esit pargaya testere ile 12
dakikada b6lmektedir. Bu is¢ci ayni levhay1
Sekil (b) deki gibi 5 esit pargaya kag dakikada
boler?

A worker cuts a rectangle plate into 4 equal
pieces as in Figure a with a saw in 12
minutes. How many minutes does it take for
the same worker to cut the same plate into 5
equal pieces as in Figure b?

odseal sd(a) JLallEs ddin cpdlele o s
1o oLt 3 ol 12 Bop omdse gl
3 gl loB i) (b) JLilssE 0 e

A)12 B)I5S C)16 D)I8 E)20

42. MHGRSYMHGRSYMHGRSY' ...
harf dizisinde 142.harf asagidakilerden
hangisidir?

What letter is the 142" in the
following combination of letters:

MHGRSYMHGRSYMHGRSY...

3 dndled142 sy agedd) iz d 5 1
tdasdi

AM BH CG DR E)S

43. Saat 10:15°te akrep ile yelkovan
arasindaki kiiciik a¢1 ka¢ derecedir?

What is the degree of acute angle
between the hour and minute hands
of the clock at 10:15?

QUG Oses D) 3_gadd gl 3! bgise 1
£10:15 310! gl s s S

A) 141,5° B)142,5° C)150°
D) 156,5° E) 157,5°

METROPOL (M) 1is Jsgsie



44.
46.
2 7 5 9
6 9 0 X A b |« X [a |b |c
il a
a c-B
7 8 5 6 ; b
P 2 1 3 c | b+2 c -6
<=9 Yukarida toplama ve ¢arpma islemleri ile
tanimlanan tablolarda a, b, ¢ harfleri birer
A)S B)6 C)7 D) E)» saylya karsilik gelmektedir. Buna gore b* + ¢
kagtir?
The tables above define addition and
multiplication, where a, b, c letters refer to a
unique number. Then, b’ +c*=?
s dlgd seivda, b, ¢ <zdil o Jd e
b+ segise o s@dl b ooad) gard) e
45. $la sdgdbde Sz
J | 8§06 |2
A)13 B)19 )25 D)31 E)37
71 5]|3]| 4
4 12| x| 6
S |1 41317
x yerine asagidaki sayilardan hangisi
gelmelidir?
Which of the following numbers should
replace x?
fdondhk o YamnUlpd @) s e
Ay  B)S )6 D)7 E)S8
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47.

aP b?

atb a.b

seklinde tanimli iglemlere gore asagidaki tablo
veriliyor.

The following table is given based on the
defined operations above.

) 53z ) 3o g (s3Il sdanzadl e a4

d/du-“(_
X Y
213
W y4
Buna gore
Then
A0 4
Y o
w-z

A)17 B)-17 C)71 D)-71 E)-7

48.

L. 243----> 20
IL. 832---> 30
II1. 545----> 40
Iv. 446 ---> 40
V. 353 -2 x

x=?

A)20 B)30 C)40 D)50 E)60

39 l 2l 36 X

i

n |4 g | 3 1T | 7 22 | 24

x=?

A)I5 B)6 ()52 D)66 E)69

A)l B2 ()3 D)4 E)S
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51.  3,5,11,29,83,245.%,... dizisinde x=? 53. Dijital bir gostergede rakamlari

gostermek icin kullanilan ¢izgi sayisi
If 3,5, 11, 29, 83, 245, x, ... asagidaki tabloda verilmistir.

Then x=?

Rakam 0/1]2|3]/4(5]|6|7|8]9
Cizgisayist |6 2|5|5|4|5|6|3|7]|6

12 ¢izgi kullanilarak olusturulabilecek
rakamlari farkli en biiyiik 3 basamakli
say1 asagidakilerden hangisidir?

£3,5,11,29,83,245,x,... sudbebe (s spgise o

A)549 B)552 (C)684 D)731 E)773 Following table shows the number of
lines to show the digits on a digital
indicator.

Digits: | 0| 1]|2]|3|4|5|]6|7|8]9
Number | 6 |2 |5 |54 |5|6|3|7]|6

of lines

What is the biggest 3-digit number
with different digits formed using 12
lines?

DY JleLaY o b o) skl 2pacas
U sxd e ) wBedl

52.
2! O[1[2]3[4|5][6[7]8]9
3 (6) 12" :_');': 2§ 6[2[5[5[4[5[6[3[7]6
- - — } et L}Léd\
Sbad) e V) Gl 0By e
9 18 136! fedd) o g Lok bl oo Jd i
x=?

A)641 B)782 ()872 D)941 E)98l

A)24 B)27 ()30 D)33 E)72

54.

A)3 B)4 C)s D)y E)7
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51 17 E]

=?

A¥2 B)69 C)72 D)3 E)84

56. Asagidaki seklin katlanmasiyla
olusabilecek kiip hangisidir?

Which cube is the folded form of the

following shape?
w5z sod) sk i) destd
Sda e
Al B (]
o e et
NN

N

Yukaridaki sekil katlandiginda asagidakilerden
hangisi elde edilir?

Which of the following is the folded form of
the shape above?

?‘5dé‘;\ kfdjcjed\ M\[ﬁk g&_,@tdu{wéw\

C)

I @

D) El

(YRR 2

Yukarida soru isaretinin yerine asagidakilerden
hangisi gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

¢ =l

& B) &)
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61.

DRIWEI 2 | 00,

Yukarida soru isaretinin yerine asagidakilerden O + <> =3
hangisi gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

A) B) 0
e E . 0xO 0x¢ ©-0
Al Al e Y daias G A 3l L

¢ =Yl
k)

AOORE

E)

0+0  OxO

62. )
I I
1234] [®@00
60. 1347 1 ®QVA ise 1975="
A 2579| |@@ DO
- 2489) |®@© A
A -9
= /\ +[«]=2 A osaue
8 =2 B) @0 AG
2|, ) R A0
D) @OEe

A¥ B)5 (06 D)7 ES E) PO0E®
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==\ I.::T\I | == '.’:‘

e == ) ot )
I-Ial-_—",': I'If:l:. JI= —'l'.l |.‘:1'
\__'.!'l._ ) .'I"\--——’“ -lIL\____‘_I!
M p L e O
1:54 (238 la:zz ‘.4:06-' ‘ X
' [l - Il i

e ,—-—._I] / ',Ill_.—-_II f F—— o —
':tl_f!-' ":‘.:ﬂ-" = '-:ll—:lfl,'

I'IJ,T _Tfl,'l '-:r = ;l[:.lfl' '-}'TI-' |
e et | | - '.

A)4:50 B)5:00  C)5:08

D)5:10 E)5:13

64.
2.90(>0( 28128
K00l X8| X8
AREE

Yukaridaki sekiller arasinda bir iliski

vardir. Buna gdre ? yerine hangi sekil
gelmelidir?

Which of the following shape should

replace question mark (?) in the
pattern above?

o creddis! dNiss el I (s Ble dis

A)Ps% B) 28 C)é;\]

65. I I

KAT | |417
TAY 4814
TAM | | 715
YAL | |419

1. Gruptaki her bir kelime, II. gruptaki ile
sayilarla eslestirilirse MALATY A kelimesine
karsilik gelen asagidakilerden hangisidir?.

The letters in group 1. match with numbers in
group Il. Then what is the combination of
numbers that matches the word MALATYA?

s¢ seed) 3l DAL SIAINEE sazed) s

SMALATYA 3248 Jedgs il
A) 9151471 B) 5191471
C) 7151941 D) 9171451
E) 7141591

66.

KUTU 9174 5152

TAKT

ALTI 1594 -

LALE 7393

ELMA
KATILIM=?
A) 7154948  B) 7194548 C) 9174845

D)7394548 E) 9173538

METROPOL (M) 1yis Jsosie



67. 69. Asagidaki sekillerden hangisi
- . & - farklidir?
i & ? 2 @
- w - el Which of the following shapes is
different?

Salgd » e ds b
Yukaridaki semaya gore ? yerine
asagidakilerden hangisi gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

O Yaosgoail crpasddes Jdlil el Jedililas
?f\b ;@M’S.«)&

) Q D) 'g

68.
2| 5|~ 25
33| =~ 2T
3 (4 |- 64
6|1~ 1
62 |~ =x

x yerine asagidaki sayilardan hangisi
gelmelidir?

Which of the following should replace x in
the pattern above?

x o Yoogoanl crasdde o ol

A2 B)I12 ()36 D)64 E)128

METROPOL (M) 1yis Jsosie



70.

T

}‘ &
1

i--f:E’“-at:-'

—h L/

r

Yukaridaki seklin saatin tersi yonde 45° derece
dondiiriilmiis hali asagidakilerden hangisidir?

Which of the following is the shape
above rotated by 45° degrees
counterclockwise?

45 s s SUtdern e @rduar oudds
e lod) Gagoale

B) {R_\,

71.

Soru isareti yerine agagidakilerden hangisi
gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

Telout¥ 33 e Yool crasdde Jis

oh

T,

METROPOL (MF) Lis Jsessa
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72.

Yukaridaki seklin icinde agagidaki sekillerden
hangisi yoktur?

Which of the following does not fit into the
shape above?

Sl Uil s s g s I Bl a6

Ml B M C?I 1]

73.

Yukaridaki sekil asagidaki gruplardan
hangisi ile elde edilebilir?

Which of the following groups of blocks
are used to build the shape above?

ebim ) Mg I A 3 e
?Lgd&j\

" HE
[ ] | |

| _ EHE!DI
ij'@ﬂ

METROPOL @9 hiig J2gsue



74.

O m O ] 2

Yukarida soru igaretinin yerine
asagidakilerden hangisi gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

sl Yamguad e dd I e ol
¢ AR
.&QY\ sdlpiay)

A) B) Q)

75.

[ S S o |
R |
b.'l-.+ -l-.-l-.{

L ATAYL A

».+ +.+ +.1
r-.-t- +.+.+ |
o 00

iatmta b P q

imtat tatad

90, 00,
Soru isaretinin yerine asagidakilerden hangisi
gelmelidir?

b +.+ +.+.1

3
[l P =
o0 | ?

+04

)
(I S|
ILA...JLA.A.J

¥

Which of the following should replace
question mark (?) in the pattern above?

sl o Yaoguanl crg @l B4 e
¢ o)
e !

METROPOL (ME) Lis J29se



77.

A& |[&
QD 8D Db p 9
v iLa |l a

Soru isareti yerine asagidakilerden hangisi

76.

gelmelidir?
Yukaridaki sekil saat yoniinde 270 derece
dondiiriiliirse asagidakilerden hangisi elde Which of the following should replace
edilir? question mark (?) in the pattern above?
Which of the following is the shape feloub¥ Ik G Yamg =0l iz Wb !
above rotated by 270° degrees clockwise?
270 sl s Ubdgan g @ o oudeluis! A) B) ©
Selond Slages v ' '
> P34 o4
A A A

) METROPOL (M) 1yis Jsosie



78. 79.

Al @ © 2 .

Hje ¥V =n

Yukaridaki soru isareti yerine hangi sekil
gelmelidir?

Yukaridaki seklin verilen eksene gore simetrigi
Which of the following should replace asagidakilerden hangisidir?

question mark (?) in the pattern above?
) Which of the following is the symmetrical
Salo w3 )\t op Yasguaiol crasddps Jediics! display of the shape above in the given
direction?

oseadllzs IR DB Jedl 5 wddes Sl

N 5 o ?aaCed\
© © © | D
n [n] n]
D) E) X/« MY M|a
10 10 N0
Ll Ll Ll
D) E)
] 10
dleo M|«
"D 0
Ll Ll
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80.

Soru isaretinin yerine asagidaki sekillerden
hangisi gelmelidir?

Which of the following should replace
question mark (?) in the pattern above?

Salo GBY1 55U 0 Yool crasddee Jedig|

B & &
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